APPLICATION QUESTIONS 3

Find the homogeneous solutions of the linear ODE with constant coefficient whose roots of

the characteristic equations are given below.
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a r=1,1,=-1,1r3=3,T4=-3,T5=5,T6=-6
b. r1=1r=0,1r3=1r4=-2,1r5=3i ,7¢=-31
C. r1=1=20,1r3=7r4=-2i,r5=10,r6=-—1
d ri=rp=r3=2,1r,=-2,r5=2-3i ,1r=2+3i
r1:r2:r3:i’r4:r5:r6:—i

f. ri=r,==14+3i,r3=1r,=—1-3i,1r5=2 ,1r = -2
9. " =r;=1r3=2—10,1T,="r5=17rg=2+1
h. le\/i,rZ:r3:2i,r4:r5:—2i,r6:\/§
i r1=i,r2=—i,r3=—2i,r4=2i,r5=3i,r6=_3i
] r1=1'r2=_1'r3=i'r4=_ilr5=1+i'r6=1_i
K 11=2 ,1r;=13=-1,14=75=176=-3

. _ 3. -
I ri=r=T3=_1,7r,=7rs=Te=—7I

m. r1=r2=r3=—3+5i,r4=r5= r6=—3—5i

n. r1,2 =1 i \/Ei , r3,4 = i\/ii , r5,6 = —\/E

1. Find the homogeneous solutions of the following linear ODE with constant coefficient
a. y =3y —y +3y=2e3*+7x
b. y"+2y —4y —8y=4x+7
c. y"—3y +3y —y=8xe*+sinx
d. y"+ 9y =11xsin3x
yvY —4y-+29y =0
f. y -y —-y+y=9e*+4

y =5y +6y =9x—3
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